OEMA A

Al.a. A, B.2,v.2,0.2,e. A\

A2.1.B,2.6,3.01,4.¢,5. a

OEMA B

B1. KED. 66.2.2 5 and a),B),y),6),€),01) kar )

B2. KE®. 6 6.5.5 5 amnod a),B),y),6),€),0T1) kai )

OEMA T

[1. KED. 6 6.12 (2X B ZEA 294) Ta uypd TTIOU CUYKEVIPWVOVTAL
OTOUG OUAAEKTEG.....AEfNTL

2. E=pi*F*|—-1000=pi*0,5*100—1000=pi*50—pi=1000/50=20bar
Pe=pi-pr—18=20-pr—pr=20-18=2bar

OEMA A

Al. a) Mg=Ne/w—4000*103=Ne/10—-Ne=4000*10*103=40000KW
B) sfc=m’s/Ne—1/20000=mp/40000—mp=40000/20000=2kg/s
A2. 200000kg/(24*3600)s=200000kg/86400s=2000kg/864s

~2,13kg/s apa enapkei opiaka



